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% sam09.clu -- sample of record type

start_up = proc()
pi:stream := stream$primary_input ()
po:stream := stream$primary_output()
for line:string in file_lines(pi) do
stream$putl(po, line)
end
end start_up

file_lines = iter(f:stream) yields(string)
while “stream$empty(f) do
yield(stream$getl(£))

end
end file_lines
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% sam10.clu -- sample of record type

start_up = proc()
ent = record[s:string, i:int]
aent = array[ent]



pi:stream := stream$primary_input ()
po:stream := stream$primary_output()
ataent := aent$new()
while “stream$empty(pi) do

s:string := stream$getl(pi)

i:int := int$parse(stream$getl(pi))
e:ent := ent${s:s, i:i}
aent$addh(a, e)

end

for e:ent in aent$elements(a) do
stream$putleft(po, e.s, 10)
stream$putright (po, int$unparse(e.i), 5)
stream$putc(po, ’\n’)
end
end start_up
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% samll.clu -- sample of oneof type

start_up = proc()
one = oneof[i:int, n:null]
ent = record[s:string, o:one]
aent = arrayl[ent]

pi:stream := stream$primary_input ()
po:stream := stream$primary_output()
a:aent := aent$new()

while “stream$empty(pi) do
s:string := stream$getl(pi)

if s[1] "= ’-’ then
i:int := int$parse(stream$getl(pi))
e:ent := ent${s:s, o:one$make_i(i)}
aent$addh(a, e)

else
for e:ent in aent$elements(a) do

if e.s = string$rest(s, 2) then e.o := one$make_n(nil) end

end

end

end

for e:ent in aent$elements(a) do
if one$is_i(e.o) then
stream$putleft(po, e.s, 10)
stream$putright (po, int$unparse(one$value_i(e.o0)), 5)
stream$putc(po, ’\n’)
end
end
end start_up
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A.1 sequence[T] Y
PAF st = sequencelT] £ 9%,

st$new = proc() returns(st) -— FRRIE 1 ICEE

st$size = proc(st) returns(int) -— BEH»D LRMPDOKEX
st$empty = proc(st) returns(bool) -- size = 07

st$subseq = proc(st, int, int) returns(st) -- #4341

st$£ill = proc(int, int, T) returns(st) signals(negative_size)
st$fill_copy = proc(int, int, T) returns(st) signals(negative_size)
st$fetch = proc(st, int) returns(T) signals(bounds) -- ERET /L A
st$bottom = proc(st) returns(T) signals(bounds) -- HMDEHE
st$top = proc(st) returns(T) signals(bounds) —- I{RDEFH
st$replace = proc(st, int, T) returns(st) signals(bounds) —- & I#tZ
st$addh = proc(st, T) returns(st)

st$addl = proc(st, T) returns(st)

st$remh = proc(st) returns(st) signals(bounds)

st$reml = proc(st) returns(st) signals(bounds)

st$e2s = proc(T) returns(st) —- 1 EFEDJ

st$concat = proc(st, st) returns(st)

st$a2s = proc(array[T]) returns(st)

st$s2a = proc(st) returns(array[T])

st$elements = iter(st) yields(T)

st$indexes = iter(st) yields(int)

st$equal = proc(st, st) returns(bool)

st$similar = proc(st, st) returns(bool)

st$copy = proc(st) returns(st)
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UUFrt = record[£Fi1:81, Zui2:82, - ARin:Mn]. st = struct [&Fi1:741, &
Af2: 52, - HEin:Mn] 95,
rt$create = proc(Fl 1, -+ #n) returns(rt) --- > TUINITFHRW,
rt$get_FHli = proc(rt) returns(Fi) --- WODOZE
rt$set_HHTi = proc(rt, B i) ——- BDOEE
rt$r_gets_r = proc(rt, rt) --- NHFIE—
rt$r_gets_s = proc(rt, st) --- struct PHONARIE—

rt$equal = proc(rt, rt) returns(bool)
rt$similar = proc(rt, rt) returns(bool)
rt$similarl = proc(rt, rt) returns(bool)
rt$copyl = proc(rt) returns(rt)

rt$copy = proc(rt) returns(rt)

st$create = proc(# 1, - #n) returns(st) --- {HoTIEV TR,
st$get_#Hii = proc(st) returns(B i) --- BDSR
st$replace_#Hii = proc(st, # i) returns(st) --- BODKE
st$s2r = proc(st) returns(rt) --- L I—RIZ
st$r2s = proc(rt) returns(st) -—— LV I—RK”n5H
st$equal = proc(st, st) returns(bool)
st$similar = proc(st, st) returns(bool)
st$copy = proc(st) returns(st)
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BNZ & >T ot = oneof [ZHT1:84 1, ZFj2:842, - ZHIn: % n]. vt = variant [%F( 1:
B, #Ej2: %82, - ZEin: Ml 2 UFET,



ot$make_#HHTi = proc(# 1) returns(ot)

ot$is_#HI i = proc(ot) returns(bool)

ot$value_#Hii = proc(ot) returns( 1) signals(wrong_tag)
ot$o2v = proc(ot) returns(vt)

ot$v20 = proc(vt) returns(ot)

ot$equal = proc(ot, ot) returns(bool)

ot$similar = proc(ot, ot) returns(bool)

ot$copy = proc(ot) returns(ot)

vt$make_%HTi = proc(FL 1) returns(vt)
vt$change_#Hii = proc(rt, T 1)
vt$is_#HT i = proc(vt) returns(bool)
vt$value_#Hi 1 = proc(vt) returns(®! 1) signals(wrong_tag)
vt$v_gets_v = proc(vt, vt)

vt$v_gets_o = proc(vt, ot)

vt$equal = proc(vt, vt) returns(bool)
vt$similar = proc(vt, vt) returns(bool)
vt$similarl = proc(vt, vt) returns(bool)
vt$copy = proc(vt) returns(vt)

vt$copyl = proc(vt) returns(vt)
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ent = record[s:string, i:int]
HAZE L BHE DX,
aent = array[ent]
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start_up = proc()
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file_words = iter(stream) yields(string)
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is_alphabet = proc(char) returns(bool)

B2 ONIXFNRET (HFEIZEENDREINT) LS M,
lookup_record = proc(aent, string) returns(ent)
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sort_record = proc(aent)

Hid% % BEED FNMHIZ RN R B,
print_records = proc(aent, stream)
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